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“C is quirky, flawed, and an enormous success.”

Ritchie
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int i; float f;

int square(int a);
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O], char ¢ = 'X'; int a = 1; // c+a%| 4f:7 v’
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= Unary : -, ++
= Binary : +, -, *, /, %
» Ternary: ?
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int x=0, y=0; y=x+2;
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ZALE A E|O{OF 2

7|%|E(int, £float, for, while, ...) AFE =X
N EA NS, —_rL—.v_—.:.

Ooff, int x; int X; // H= xQF = X= CHE

» OICHE 2|

Hn

int student count; SECH
int long; =c|Ck 7|RIE AFE Ot =
int 2025class; =c|Ck =XtE A%} 2F E
int class2025; SIC}H

int shopping c@rt; =C|Ch 3 SAF AR O E
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G| O] E{F 1} A7

= CO| 7|2H8 9] H|O| KA
» =X} §O|E{Y: int, float, double
» EAIY: char
= AMEXAF HO|(user-defined) HIO| B EE = X} = struct, union
« 2XH(char)Lt §=(int)0llE REH(signed) L& FES
A (unsigned) 23 Af(qualifier)7} U=
» RSy = Y0|H, M= [0, 20— 1] (n: HIO|HE A7)
O, unsigned char a; // 0 < a < 255
» B =3t E =00, B =2h-1, 2n-1-1]
Ol, char a; // -128 < a < 127
= FAIE 2 241 byteE XHX|SELE, =X 2 SIEL|O|LE A
oo et 7|7 CHE = U=
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signed unsigned
short short int x; short y; un:?;igzecsihcs):zritni;y;
default int x; unsigned int x;
long long x; unsigned int x;
float float x; NA
double double x; NA
char char x; signed char x; unsigned char x;
» SN FRESY EAs s 290 AFEE T2 KO
tEE e
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Big endian vs. Little endian

» HO|HY 3 7|= St=ROLE Aup 20| = X[2F Ch=1f
7FO 7(7-| o| EEE:I

sizeof (char) < sizeof (short) < sizeof (int) < sizeof (long) and

sizeof (char) < sizeof (short) < sizeof (float) < sizeof (double)

» ZX}d(char)= 1 byte : sizeof (char)= 1
» XA (int, float, double)= 1 byte O| &= XX|&
« HO[H™E A7|= A 2] byte?! O HZ22|0f O{EAH XEEIt?
= Big endian: Z|4%| byte= Z2 H 22| =40 HEE
(PowerPC L EZ M| A{0f 22 Q1)

= Little endian: Z|5}2| byteg ¥2 O 22| 20 K& E
(x86 L2 A|A{Of 22 Q))
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Big endian vs. Little endian

*= 0], unsigned int x

168496141
(102l
0 2 2| OA | 0B |0C | 0D

addr | OA (€

addr+1 | OB [«

addr+2 | 0C «

addr+3 | 0D [«

: Big endian

168496141 ;
0AOBOCOD
(167Z!=)
OA| OB |OC|OD| mzz
» 0D | addr
» 0C | addr+1
» OB | addr+2
» OA | addr+3
Little endian :
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int x=3;

long x=3;

0
1

unsigned long x=3UL;

int x=0xA;

int x=012;

ks
i

float x=3.14159;

float x=3.141F;

double x=3.1415926535897932384L;
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char x='A"; =K}
2X} char x='\x41"'; 1672 M2
char x='\0101"; 8TIF==2 MO

o char x[]="hello world";
XY hello world &%
char x[]="hello ""world";

o1 7 enum bool {NO, YES}; NO=0, YES=1
(enumeration) | enum COLOR {R=1,G,B,Y=10,P}; RY1=’1C3, |23’=?1 3
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HO|E & [space] H0|& [=x7]4];
|\ J
~
A= 7ts

char x; // Z7|2folX] 2=
char x='A'; // 'A'E 7|22
char x='A', y='B'; // 0|2 B5= M5t =7[=tel
char x=y='A'; // {2 H= 2
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» Xx>y?:int x=0x19; int y=20;

" 3HE7F?:unsigned char uc=-1;

= = A IENM i printf("hello"+"world"); &

printf ("hello""world") ;
» XL=?:enum sz {S=0,L=3,XL};

= XL=?:enum sz {S=0,L=-10,XL};
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int x=3+2;

+ & 3S)7| int x=y+z;
float x=y+2.513;

int x=3-2;

_ it 7 | int x=y-z;
float x=y-z-4.369;

int x=3*2;

* =0ol}7] int x=y*z;
float x=y*z*5.3;
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NP o|O| o
int x=3/2; // 21} 1
/ L= 7| float x=3/2; // 21} 1.0

float x=3.0/2; // Z1F 1.5
int x=3%2; // 21} 1
% LI H X] int x=7; int y=x%4; // Z21f 3

int x=7; int y=x%$10; // 21} 7

» LIHX|= floatLt doublet|= HEE &= 2, S50 X
g2 Mo A= Ao et CHE
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5 242 H|W5t0] Ftrue) £ A (false)2 BHetste O
AbXLQ

—_—

—

= Zh(true): 00| Ol 2 & 4}
= AHZ(false): 0= 2|0| %t

A AKX} o|O| Ol
Q1% Z+o| . 2% 3>2; // & (1)
>
H| 2.67>3; // A5 (0)
o =% 0l AL & 3>=3; // & (1)
B 2X| H| 2.99>=3; // HZ%Al(0)
Q1% 40| § 2 2X| 'A'<'B'; // & (1)
<
H| 3.1<3; // A%l 0
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0, float 6.7; x==6.7; // 1% (0)
double x=6.7; x==6.7; // (1)
A LKL o|O| Ol
. X|
- Q= 7+0| O AL} 3<=2; // AZ2(0)
ZE2X| Hl 2.67<=3; // (1)
— 7Fo| 7I-Ox| |:||_l 3== / // jéll-(l)
== — ul
ST ar=="a'; // AR (0)
'AYI="B'; // & (1)

= + O] CrEA| H| W

31=3; // A (0
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A AFRE o|O| Ol
(3==3)&s& ('A'=="a"); // A& (0)
&& AND
(6/2==3) && (4*2==8); // & (1)
3==3 || 'A'=='a'; // Er(1)
| OR ~ x|
2>=5 || 0; // A& (0)
1(2.87>=3);: // 2r(1)
! NOT(EH
(FS) 1 (5<9); // HAZ (0)
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S7HE A ALK}

» S/t AMA 4= QIHEHEC| 12 S7FHAE
e ZHA OJAIK} = QA0 12 ZHAA|Z
» S7HE A AMRE HEO| YO & = U1, FOlE &

A O|lO
- AT

= ++x; // =0 AREE[Z] FO| S7HAIZL
= x++; // =0 ARE 20| S7HAZ
= O , X=5;
= x++; //

Yy
y = ++x; //
Y
Y

= xX==; //
= —-=x; //

%%kﬁ%
SO oy U
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NP ol Oj O
0x77&0x03; // 21} 0x03
& AND =
0x77&0x00; // Z1F 0x00
0x77|0x03; // 21} 0x77
| OR .
0x7001]0x003; // 21 0x703
0x7707~0x773; // 21} 0x003
A XOR —
0x55°0x55; // Z1F 0x00
. 747
- o= \|ZE 0x01<<2; // 21} 0x04
1<<4: // 21} 16
0x10>>4: // 21} 0x01
>> QEE AN|ZE —
8>>2; // 24t 2
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o o 17 =4 ©
» COl=Ci31 &2 4 B2 RO EY
X = x+1; x = x*5; x = x/2; x = xX%3;
o xE] O SE A o
» LB U= AIES = U S
x+=1; x*=5; x/=2; x%=3

» OHF =2 binary HLHAHG| 5 ESt= X8 ALRZE AS

X8 HUAE AR O F2f At
x*=y+1 =
X=x* (y+1) = o|0|g
x=x*y+1% o|0|5t= 0| ot

5, =2 1 B0} RMEQITH S
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a0 O 1T
. A2 o] BE Tz 2jY 100 20| M0l HQ
if (B if (=)
Z2OYE; Z2OME,
} else { else
D2, Z2OUL,;
}
= if else {0 ZE2 O FO| StLIO|H 2 MEF Tt
» 0| 42 ZAEE ternary H4XH?2:) 2 XS = AUS
z = (a>b) ? a : b; sign = (a>0) 2 1 -1;
if (a>b) if (a>0)
z = a; sign = 1;
else else
z = b; sign = -1;
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He g

= O| CHE Clat0f] A2 StH @ HE0| oY
n X|-E|:H§|-
I PONPTPS
int i; float f; f = i+3.1; //8%7| H0| i= floatz= H=HE
C M3 S 220 Yo 4 S
int i; float f; i = f+1.2; //0o}7| Zit= int2 HzHE
= EAE - e EALEE EAE S He|S I He|g
isupper = (c>='A' && c<='z2"') ? 1 0;
i1f (!isupper)
c =c-"a'+'A';
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